AGREEMENT BETWEEN THE CITY OF GAINESVILLE

AND

GOLD NUGGET UNIFORM DBA / ARGO UNIFORM COMPANY

THIS AGREEMENT is made and entered into this 12 day of Focusey 2019, by and between the City Of Gainesville, Florida, a municipal corporation organized under the laws of the State Florida, hereinafter referred to as "City" and GOLD NUGGET UNIFORM DBA / ARGO UNIFORM COMPANY, hereinafter referred to "CONTRACTOR".

WHEREAS, the CITY desires to enter into an agreement with CONTRACTOR to provide uniforms for the Gainesville Police Department which incorporates BID GPDC-190009-MS into this Agreement;

WHEREAS, the Contractor is awarded line numbers 1 through 16, 18 through 48;

NOW THEREFORE, the parties hereto agree as follows:

SCOPE OF SERVICE

The CONTRACTOR shall provide uniforms to the Gainesville Police Department based on the bid GPDC-190009-MS and the specifications listed in bid document. (Attachment I – Bid Document GPDC-190009-MS).

COMPENSATION

Payment will be due the CONTRACTOR 30 days after receipt of acceptable equipment and receipt of acceptable invoices. Invoices must be created by the CONTRACTOR and shall not be produced by CITY personnel on the CONTRACTOR's behalf. The CONTRACTOR must accept payment either by Visa, within Visa limits, or by electronic funds transfer (EFT). The cost of the contract shall not exceed \$120,000 per year.

EFFECTIVE DATE AND TERM

This Agreement is in effect for the time period beginning date of the award notice for a four year period as stated in the original bid document. There is a one additional year optional renewal and may be extended if both parties mutually agree in writing.

GENERAL CONDITIONS

Termination: If the CONTRACTOR fails to fulfill any of its obligations under this Agreement, or otherwise through no fault of the CITY, such failure shall be considered a default and entitle, but not obligate the CITY to suspend or terminate the Agreement in part or whole at the CITY's discretion. If the CONTRACTOR fails to cure the default with thirty (30) days after receipt of written notice from the CITY, the contract in whole or part will be terminated with the

CONTRACTOR. In event of termination the CITY shall pay CONTRACTOR the full amount due for goods satisfactorily delivered and/or services satisfactorily rendered.

This agreement, award notice and BID GPDC-190009-MS constitutes the entire Agreement between the parties. Modifications of this Agreement shall be made in writing and signed by both parties prior to becoming effective.

City Of Gainesville

Deborah V. Bowie

Interim City Manager

Date

GOLD NUGGET UNIFORM

Date

APPROVED AS TO FORM AND LEGALITY

 $RY \cdot$

Lee C. Libby City Attorney Sr.

Gainesville. Citizen centered People empowered

Issue Date: October 5, 2018

There will not be a pre-bid meeting.

Deadline for receiving questions: October 19 @ 12:00 p.m. local time. All questions $\underline{\text{must}}$ be submitted in writing on or before the deadline indicated.

Bid Due Date: November 2, 2018 @ 3:00 p.m. local time

INVITATION TO BID

POLICE UNIFORMS AND EQUIPMENT

BID NO. GPDC-190009-MS

Procurement Representative: Melanie Sowers, Procurement Specialist III Procurement Division

Phone: (352) 334-8779 Fax: (352) 334-3163

Email: SowersMA@CityofGainesville.org

City of Gainesville 200 East University Avenue, Room 339 – Gainesville, Florida 32601 Sizes: Men's waist sizes as listed below 28, 30, 31, 32, 33, 34, 35, 36, 37, 38, 40, 42, 44, 46, 48, 50, 52, 54, 56, 58, 60, 62, 64, 66

44. Women's Short Sleeve Shirt (Elbeco 9813LCN Blue – Police Explorer Shirt with Navy S/S and P/F) department patches sewn on. 100 % Polyester Tropical Weave, 5-5.5 oz/sq yard. Dual flex underarm mesh vents. Chest pockets with dual access top and side. Dual comms wire access openings in side seams. TexTroo Zippered Front Shirt with false-button front placket with hidden zipper. Machine washable and Nano moisture wicking material.

Women's Bust Sizes 30-50

45. Women's Long Sleeve Shirt (Elbeco 9313LCN Blue – Police Explorer Shirt with Navy S/S and P/F). Police Explorer department patches sewn on. 100 % Polyester Tropical Weave, 5-5.5 oz/sq yard. Dual flex underarm mesh vents. Chest pockets with dual access top and side. Dual comms wire access openings in side seams. TexTroo Zippered Front Shirt with false-button front placket with hidden zipper. Machine washable and Nano moisture wicking material.

Women's Bust Sizes 30-50

- 46. Elbeco (E9314LC) 100% Polyester stretch textured serge weave uniform pants -women's pants. (Midnight Navy). Pants for Police Explorers. Do not sew pockets closed. Fabric: 100% polyester stretch textured serge weave, Weight: 7 oz/sq yd. Machine washable. Triple stitched crotch lining. Front and back permanent creases and a double hook and eye waistband closure. Lined inserted belt loops. Fabric will have Nano moisture wicking technology. Women's Sizes 4 through size 28.
- 47. 5.11 (74439) FAST-TAC Cargo Pants -BDU for K-9 Units. Color: Dark Navy. Lightweight 4.7 oz. 100% polyester Fast-Tac fabric. Reinforced front utility pocket edges. Flexible, self-adjusting waistband with 7 loops. YKK zippers. Melamine buttons for center front closure.

Size 28 - 44 waist and 30 - 36 inseam.

48. 5.11 (41192) HELIOS SHORT SLEEVE POLO SHIRT for K-9 Units. Color: Dark Navy. Made with 4.4 oz. jersey knit polyester. Sunglass loop at placket. Moisture wick and quick drying. Underarm gussets and Melamine buttons. Shoulder mic pockets and pen pocket at left sleeve. POLICE printed in reflective Silver 2.5 inches tall. K - 9 printed in reflective Silver 5 inches tall.

Size S - 3XL.

49.	Op	tional: Percentage (%) Discount off catalogi	ue prices (bidder will provide a copy of each current
	cata	alogue with prices) fo	r miscellaneous unifor	m items not listed.
	a.	% Discount OFF	N/A	Brand Name Catalog. Discount%
	b.	% Discount OFF		Brand Name Catalog. Discount%

BID FORM

TO:

City of Gainesville, Florida 200 East University Avenue Gainesville, Florida 32601

PROJECT:

POLICE UNFORMS AND EQUIPMENT

BID#:

GPDC-190009-MS

BID DUE DATE:

NOVEMBER 2, 2018 at 3:00 p.m. local time

CITY'S REPRESENTATIVE (to be contacted for additional information on this proposal):

Name: Melanie Sowers

Telephone Number:

352-393-8779

Fax Number:

352-334-3163

Email address: SowersMA@CityofGainesville.org

Bidder Legal Name:

Gold Nugget Uniform

Bidder Alias/DBA:

Argo Uniform Co., Inc.

Bidder's Address:

101 N. Dixie Hwy.

Hallandale Beach, FL 33009

BIDDER'S REPRESENTATIVE (to be contacted for additional information on this proposal):

Name: Sandy Evans

Telephone Number 954-457-7100

Date: 10-30-2018

Fax Number 954-458-9734

Email address sevans@argouniform.com

BIDDER'S DECLARATION AND UNDERSTANDING

The undersigned, hereinafter called the Bidder, declares that the only person or parties interested in this Bid are those named herein, that this Bid is, in all respects, fair and without fraud, that it is made without collusion with any official of the City, and that the Bid is made without any connection or collusion with any person submitting another Bid on this contract.

The Bidder further declares that no City Commissioner, other City officer, or City employee directly or indirectly owns more than five percent of the total assets or capital stock of the bidding entity, nor will directly or indirectly benefit by more than five percent from the profits or emoluments of this contract. (For purposes of this paragraph, indirect ownership or benefit does not include ownership or benefit by a spouse or minor child.)

The Bidder further declares that it has carefully examined the Specifications and that this Bid is made according to the provisions and under the terms of the Specifications, which Specifications are hereby made a part of this Bid.

Bidder further declares that any deviation from the specifications are explained on separate sheets labeled Clarifications and Exceptions attached to this Bid Form and that each deviation is itemized by number and specifically refers to the applicable specification paragraph and page.

<u>ADDENDA</u>

The Bidder hereby acknowledges receipt of Addenda No.'s N/A	, to these
Specifications.	

TAXES

The Bidder agrees that any applicable Federal, State and Local sales and use taxes, which are to be paid by City of Gainesville, are included in the stated bid prices. Since often the City of Gainesville is exempt from taxes for equipment, materials and services, it is the responsibility of the Contractor to determine whether sales taxes are applicable. The Contractor is liable for any applicable taxes which are not included in the stated bid prices.

BID PRICES

Please complete the below price sheet and return with your bid. If there is an item you do not offer, complete with N/A. Be cautious when calculating the Total Amount for four years as you must account for year 1 and 2 being in the same column. For example:

1	Men's (Midnight	200	ea	\$20.	\$22.	\$24.	\$17,200	
	Navy) Short						1 '	
	Sleeve Shirt							
	Elbeco Z3314N	I	1	(\$4000	(\$4400	(\$4800		
	with patches			year 1,	year 3)	year 4)		
	sewn on.		1	plus				
				\$4,000				
				year 2)				1

PRICE SHEET

The undersigned hereby proposes and agrees, if this bid is accepted, to perform the work in accordance with the specifications:

Item No	Item Description	Est Annual Qty	Unit	YR 1 and 2 Unit Price	Year 3 Unit Price	Year 4 Unit Price	Item Amount total Yrs 1-4	Delivery after receipt of order
1	Men's (Midnight Navy) Short Sleeve Shirt Elbeco Z3314N with patches sewn on.	200	ea	\$33.33 \$6,666 Year 1 \$6,666 Year 2	\$33.92 \$6,784 Year 3	\$34.52 \$6,904	\$27,020	5-7 Days
2	Men's (Midnight Navy) Long Sleeve Shirt Elbeco Z314 with	100	ea	\$38.46 \$3,846 Year 1, \$3,846 Year 2	\$39.15 \$3,915 Year 3	\$39.86 \$3,986 Year 4	\$15,593	5-7 Days

	patches sewn on	7		1				
3	Uniform pants Midnight Navy Elbeco (E314) with stripes sewn on.	200	ea	\$38.56 \$7,712 Year 1 \$7,712 Year 2		\$39.55 \$7,910 Year 4		5-7 Days
4	Women's Midnight Navy) Short Sleeve Shirt Elbeco Z9814LCN with patches sewn on.	100	ea	\$33.33 \$3,333 Year 1 \$3,333 Year 2	\$33.92 \$3,392 Year3	\$34.56 \$3,456 Year 4	\$13,514	5-7 Days
5	Women's (Midnight Navy) Long Sleeve Shirt. Elbeco 9314LCN with patches sewn on.	100	ea	\$38.46 \$3,846 Year 1 \$3,846 Year 2	\$39.15 \$3,915 Year 3	\$39.86 \$3,986 Year 4	\$15,593	5-7 Days
6	Women's (Midnight Navy) uniform pants Elbeco (E9314LC) with stripes sewn on.	200	ea	\$38.08 \$7,616 Year 1 \$7,616 Year 2	\$38.63 \$7,726 Year 3	\$39.19 \$7,838 Year 4	\$30,796	5-7 Days
7	5.11 (71167) TACLITE PDU Men's Short Sleeve Shirt. Midnight Navy in color.	200	ea	\$52.44 \$10,488 Year 1 \$10,488 Year 2	Year 3	\$55.50 \$11,100 Year 4	· ·	7-10 Days
8	5.11 (72365) STRYKE CLASS-A TACLITE PDU Men's Long Sleeve Shirt	25	ea	\$52.44 \$1,311 Year 1 \$1,311 Year 2	\$54.01 \$1350.29 Year 3		\$5359.75 O	7-10 Days
9	5.11 (74370) TACLITE PDU CARGO CLASS-B Men's Pants	200	ea	Year 1 \$10,488 Year 2	rear 3	\$11,100 Year 4		7-10 Days
10	5.11 (61167) TACLITE PDU Women's Short Sleeve Shirt	100	ea	Year 1 \$5,244 Year 2	\$54.01 \$5,401 Year 3	\$5,550 Year 4	\$21,439	7-10 Days
11	5.11 (62365) STRYKE CLASS-A TACLITE PDU Women's Long	25	ea	\$52.44 \$1,311 Year 1 \$1,311 Year 2	\$54.01 \$1350.25 Year 3	\$55.50 \$1387.5	\$5359.75 0	7-10 Days

	Sleeve Shirt	T				-	T	T
12	5.11 (64370) TACLITE PDU CARGO CLASS-B	100	ea	\$52.44 \$5,244 Year 1 \$5,244	Year 3	\$55.50 \$5,550	1 ' '	7-10 Days
13	Women's Pants Neese (4703)	50	ea	Year 2	¢96 00	\$89.19	\$17277.5	50
	Class 3 Safe Officer Reversible Police Rain Jacket UN003-01.			\$4,236 Year 1 \$4,236 Year 2	\$4,346 Year 3	\$4459.5 Year 4		10-14 Days
14	Neese (UN003- 10) Reversible Police Rain Pants High Visibility ANSI Class E	50	ea	\$48.64 \$2,432 Year 1 \$2,432 Year 2	\$49.97 \$2498.50 Year 3	\$51.34 \$2,567 Year 4	\$9929.50	10-14 Days
15	Blauer 4660 microfleece jacket covered by stretch nylon.	100	ea		\$116.22 \$11,622 Year 3	\$119.59 \$11,959 Year 4	\$46.171	10-14 Days
16	Blauer #: 8133 - COLORBLOCK PERFORMANCE POLO (BICYCLE SHIRT). (French Blue) Shirt Short Sleeve	20	еа	\$73.94 \$1478.8 Year 1 \$1478.8 Year 2	\$1,513	\$1548.4 Year 4	\$6,019 D	10-14 Days
17	Bellwether L9201001 (BICYCLE PANTS) Color: Navy	20	ea	No Bid	No Bid	No Bid	No Bid	
18	Men's Long Sleeve Shirt (Elbeco Z310N White) - Honor Guard Textrop2	20	ea	\$38.46 \$769 Year 1 \$769 Year 2	\$39.15 \$783 Year 3	\$39.86 \$797.20 Year 4	\$3,118.2	0 5-7 Days
19	Men's Long Sleeve Shirt (Elbeco Z310N White) - Honor Guard Textrop2. Cpl /Sgt/Chevron	20	ea	\$769 Year 1 \$769 Year 2	\$39.15 \$783 Year 3	\$797.20 Year 4	\$3118.20	5-7 Days
20	Men's Honor Guard pants Elbeco (E314) Dark Navy.	20	ea	\$771.20 Year 1	6770 60	\$39.55 \$791 Year 4		5-7 Days

				1400 40		1.6-5-3		
21	Women's Long Sleeve Shirt (Elbeco 9313LCN White) - Honor Guard Textrop2	20	ea	\$38.46 \$769.2 Year 3 \$769.2 Year 2	\$783 Year 3	\$797.2 Year	20	5-7 Days
22	Women's Long Sleeve Shirt (Elbeco 9313LCN White) - Honor Guard Textrop2. Cpl /Sgt/Chevron	20	еа	\$38.46 \$769.2 Year 1 \$769.2 Year 2	20 \$783 Year 3	\$39.86 \$797.2 Year 4	0	0 5-7 Days
23	Women's Honor Guard pants Elbeco (E9314LC) Dark Navy	20	ea	\$38.08 \$761.6 Year 1 \$761.6 Year 2	\$772.60 Year 3		0	Days
24	5.11 74407 MEN'S MOTORCYCLE BREECHES Midnight Navy	10	ea	\$113.40 \$1,134 Year 1 \$1,134 Year 2	\$1166.8 Year 3	0 \$1200. Year 4		Days
25	Blauer – 9970V Supershell jacket (Dark Navy with hi-vis yellow) "Police" in 3.5" letters silver reflective	10	еа	\$352.59 \$3525.9 Year 1 \$3525.9 Year 2	\$362.62	\$3695.1 Year 4		10-14 Days
26	Blauer #: 9825Z– GORE-TEX PANTS COLOR BLACK FOR MOTORCYCLE UNIT	10	еа	\$215.17 \$2151.7 Year 1 \$2151.7 Year 2	0 \$219.40	\$223.73 \$2237.1 Year 4	\$8734.50 0	10-14 Days
27	Tru-Spec Urban Force TRU ¼ Zip Combat Shirt for SWAT	20	ea	\$46.90 \$938.00 Year 1 \$938.00 Year 2	\$47.76 \$955.20 Year 3	\$48.63 \$972.60 Year 4	\$3803.80	5-7 Days
28	Tru-Spec 24-7 Series Ascent Tactical Pants for SWAT	20	ea	\$48.99 \$979.80 Year 1 \$979.80 Year 2	Year 3	\$50.35 \$1,007 Year 4	\$3946.40	5-7 Days
29	5.11 Performance polo – Men's / Women's. Silver Tan (71049)	100	ea	\$57.33 \$5,733 Year 1 \$5,733 Year 2	\$58.39 \$5,839 Year 3	\$59.47 \$5,947 Year 4	\$23,252	7-10 Days

30	5.11 74003 TDU	100	ea	\$49.99	\$51.37	\$52.80	\$20,415	7-10
30	Pants Men's /	100	Ea	\$4,999	\$5,137	\$5,280		Days
	Women's. Dark			Year 1 \$4,999	Year 3	Year 4		Days
		ľ		Year 2			l.	
21	Navy	25		\$33.33	\$33.92	\$34.52	\$3377.50	
31	Elbeco 3319N	25	ea	\$833.25	1.	\$863		5-7
	Men's (French	1		Year 1	Year 3	Year 4		Days
li .	Blue) Short	1		\$833.25		ì		
	Sleeve Polyester			Year 2				
	Shirt	10		\$38.46	\$39.15	\$39.86	\$1559.30	
32	Elbeco 9319LCN	10	ea	\$384.60	1	And the Control of th	1	5-7
	Men's (French			Year 1 \$384.60		Year 4	11	Days
	Blue) Long Sleeve		1					
	Polyester Shirt.	105	-	Year 2	\$33.92	\$34.52	\$3377.50	
33	Elbeco 9819LCN	25	ea	\$833.25	L.	\$863	\$3377.50	3-7
	Women's			Year 1	Year 3	Year 4		Days
	(French Blue)			\$833.25		lear 4		
	Short Sleeve			Year 2				
	Polyester shirt			\$38.46	\$39.15	\$39.86	\$1559.30	
34	Elbeco 9313LCN	10	ea	\$384.60	16		1 .	5-7
	Women's			Year 1	Year 3	Year 4	1	Days
	(French Blue)			\$384.60		lear 4		
	Long Sleeve	1		Year 2				J1
	Polyester shirt			422.22	\$33.92	\$34.52	\$3377.50	
35	Men's Short	25	ea	\$33.33	III.	\$863	33377.30	5-7
	Sleeve Shirt			\$833.25 Year 1	Year 3	Year 4		Days
	(Elbeco Z3313N)			\$833.25	lear 3	lear 4		
	Blue - School			Year 2				
	Crossing Guard patches sewn on.		1					
36	Men's Long	10	ea	\$38.46	\$39.15	\$39.86	\$1559.30	
30	Sleeve (Elbeco	10	Ca	\$384.60	\$391.50	111.		5-7 Days
	313N Blue –			Year 1	Year 3	Year 4		Days
	School Crossing			\$384,60		V		
	Guard with			Year 2				
	patches sewn on.							
37	Men's Crossing	5	ea	\$44.94	\$45.77	\$46.64	\$911.45	5-7
٠.	Guard Shorts	W-		\$224.70 Year 1	\$228.85	\$233.20		Days
	(Elbeco E2824) -			\$224.70	Year 3	Year 4		-
	Navy			Year 2				
38	Women's Short	25	ea	\$33.33	\$33.92	\$34.52	\$3377.50	
	Sleeve Shirt		1	\$833.25	\$848	\$863	İ	5-7
	(Elbeco 9813LCN			Year 1	Year 3	Year 4	}	Days
	Blue – School			\$833.25				
	Crossing Guard			Year 2				
	Shirt							
39	Women's Long	10	ea	\$38.46	\$39.15	\$39.86	\$1559.30	
39	Sleeve (Elbeco	10	60	\$384.60 year 1	\$391.50			5-7 Days
	9313LCN) Blue –			\$384.60	Year 3	Year 4		
	School Crossing			Year 2				
	Contool Clossing			N				

	Guard with patches sewn on.							
40	Women's Crossing Guard Shorts (Elbeco E2834LC) Tek3Shirt	5	ea	\$44.94 \$224.70 Year 1 \$224.70 Year 2	Year 3	Year 4		Days
41	Men's Short Sleeve Shirt (Elbeco Z3313N Blue – Police Explorer Shirt	10	ea	\$33.33 \$333.30 Year 1 \$333.30 Year 2	Year 3	Year 4	\$1,351	5-7 Days
42	Men's Long Sleeve (Elbeco 313N Blue – Police Explorer Shirt	10	ea	\$38.46 \$384.60 Year 1 \$384.60 Year 2	\$391.50 Year 3	\$39.86 \$398.60 Year 4		5-7 Days
43	Elbeco (E314) 100% Polyester stretch textured serge weave uniform pants	10	ea	\$32.06 \$320.60 Year 1 \$320.60 Year 2	\$326.20 Year 3	\$33.19 \$331.90 Year 4	\$1299.30	5-7 Days
44	Women's Short Sleeve Shirt (Elbeco 9813LCN) Blue	10	ea	\$333.30	\$33.92 \$339.20 Year 3	\$34.52 \$345.20 Year 4	\$1,351	5-7 Days
45	Women's Long Sleeve Shirt (Elbeco 9313LCN) Blue	10	ea	\$38.46 \$384.60 Year 1 \$384.60 Year 2	\$39.15 \$391.50 Year 3	\$39.86 \$398.60 Year 4		5-7 Days
46	Elbeco (E9314LC) 100% Polyester stretch textured serge weave uniform pants – women's pants.	10	ea	\$320.60 Year 1 \$320.60 Year 2	Year 3	\$331.90 Year 4	\$1299.30	5-7 Days
47	5.11 (74439) FAST-TAC Cargo PantsBDU for K-9 Units	25	ea	\$1242.50 Year 1 \$1242.50 Year 2	Year 3	\$53.42 \$1335.50 Year 4		7-10 Days
48	5.11 (41192) HELIOS SHORT SLEEVE POLO SHIRT for K-9 Units	25	ea	\$62.79 \$1569.75 Year 1 \$1569.75 Year 2		\$65.56 \$1,639	\$9382.50	7-10 Days

DETERMINES TO BE IN ITS BEST INTEREST. THE CITY RESERVES THE RIGHT TO NOT AWARD ANY LINE ITEM AS IT DETERMINES TO BE IN ITS BEST INTEREST. THE CITY RESERVES THE RIGHT TO NEGOTIATE PRICING FOR LIKE ITEMS OF DIFFERING SIZES NOT SPECIFICALLY COVERED IN THIS BID. Note: THE CITY RESERVES THE RIGHT TO ADD OR DELETE LOCATIONS, SERVICES, ITEMS, MATERIALS OR ANY OTHER ASPECTS OF CONSIDERATION FROM THIS CONTRACT SHOULD IT BE IN THE BEST INTEREST OF THE CITY. THE CONTRACT PRICE WILL BE ADJUSTED ACCORDINGLY UPON MUTUAL NEGOTIATION AND AGREEMENT OF THE CONTRACTOR AND THE CITY'S REPRESENTATIVE. LOCAL PREFERENCE (check one) X ____no Local preference is requested A copy of your Business tax receipt and Zoning Compliance Permit should be submitted with your bid if a local preference is requested QUALIFIED LOCAL SMALL AND/OR DISABLED VETERAN BUSINESS STATUS (check one) Is your business qualified as a Local Small Business in accordance with the City of Gainesville Small Business NO Procurement Program? (Refer to Definitions) YES Is your business qualified as a Local Service-Disabled Veteran Business in accordance with the City of Gainesville YES NO Small and Service-Disabled Veteran Business Procurement Program? (Refer to Definitions) SIGNATURE ACKNOWLEDGES THAT: (check one) Bid is in full compliance with the Specifications. Bid is in full compliance with specifications except as specifically stated and attached hereto. also acknowledges that Bidder has read the current City of Gainesville Debarment/Suspension/Termination Procedures and agrees that the provisions thereof shall apply to this bid. (CORPORATE SEAL) ATTEST: BIDDER: (CORPORATE SEAL) ATTEST: BIDDER Signature By: Selica Orenstein

THE CITY RESERVES THE RIGHT TO AWARD THIS BID ON THE BASIS OF EACH LINE

INDIVIDUALLY, ANY COMBINATION OF LINE ITEMS OR ALL LINE ITEMS COMBINED AS IT

Note:

Title:

Title: President

TABULATION OF SUBCONTRACTORS AND MATERIAL SUPPLIERS

Revised: 4/4/2005;5/17/2012

be performed by each, and that such list will not be added to nor altered without written consent of the City of Gainesville. This form should be completed The Undersigned states that the following is a complete list of the proposed Subcontractors and Material Suppliers on this Project and the class of work to and submitted with the bid.

Please TYPE or PRINT legibly. Use additional sheets as necessary.

SUBCONTRACTORS

Company Name	Company Phone Number	Class of Work	% or Price of Work	Qualified Local Small
1. N/A				Business □ Yes □ No
2.				□ Yes □ No
3.				Nov No
4.				Yes L No
5.				□ Yes □ No

MATERIALS SUPPLIERS

Сотрапу Мате	Company Phone Number	Type of Supply/Material	% or Price of Materials	Qualified Local Small
1. Elbeco	800-468-4654	Polyester Uniforms	100%	D Yes ⊠No
2. 5.11	866-451-1726	Polyester+Cotton Uniforms	100%	□ Yes ⊞No
3. Blauer	800-225-6715	Polvester Uniforms	100%	
4		1		
4				OILES LINO
i.				□ Yes □ No

Bidding Company Name: Gold Nugget Uniform dba Argo Uniform Co., Inc. Form Completed By: Selica Orenstein

Date: 10-30-9018

Title: President

DRUG FREE WORKPLACE FORM

The un	ndersigned vendor in accordance with Florida Statute 287.087 hereby certifies the	nat
Gold	Nugget Uniform dba Argo Uniform Co., Inc.	does:
	(Name of Business)	
Le	Publish a statement notifying employees that the unlawful manufacture, distr substance is prohibited in the workplace and specifying the actions that wi prohibition.	
2,	Inform employees about the dangers of drug abuse in the workplace, the bus any available drug counseling, rehabilitation, and employee assistance progemployees for drug abuse violations.	
3	Give each employee engaged in providing the commodities or contractual specified in subsection (1).	services that are under bid a copy of the statement
4.	In the statement specified in subsection (1), notify the employees that, a contractual services that are under bid, the employee will abide by the terms conviction of, or plea of guilty of nolo contendere to, any violation of c substance law of the United State or any state, for a violation occurring in conviction.	of the statement and will notify the employer of any Chapter 893, Florida Statutes, or of any controlled
5,	Impose a sanction on, or require the satisfactory participation in a drug al available in the employee's community, by any employee who is so convicted	
6.	Make a good faith effort to continue to maintain a drug-free workplace throug	h implementation of this section.
As the p	person authorized to sign the statement, I certify that this firm complies fully with	h the above requirements. Bidder's Signature
	10-3	30-1 & Date

BROWARD COUNTY LOCAL BUSINESS TAX RECEIPT

115 S. Andrews Ave., Rm. A-100, Ft. Lauderdale, FL 33301-1895 - 954-831-4000 VALID OCTOBER 1, 2018 THROUGH SEPTEMBER 30, 2019

DBA: Business Name: ARGO UNIFORM CO INC

Seats

Receipt #:333-2746
CLOTHING/SHOE RETAIL (RETAIL Business Type:

Owner Name: ARGO UNIFORM CO INC Business Location: 101 N DIXIE HWY

Rooms

Business Opened:09/11/2000 State/County/Cert/Reg:

Exemption Code:

HALLANDALE

Business Phone: 954-457-7100

Employees

Machines

Professionals

1	For Vending Business Only					
Tax Amount	Number of Machines;		Vending Type:			
	Transfer Fee	NSF Fee	Penalty	Prior Years	Collection Cost	Total Paid
45.00	0.00	0.00	0.00	0.00	, 0.00	45.00

THIS RECEIPT MUST BE POSTED CONSPICUOUSLY IN YOUR PLACE OF BUSINESS

THIS BECOMES A TAX RECEIPT

WHEN VALIDATED

This tax is levied for the privilege of doing business within Broward County and is non-regulatory in nature. You must meet all County and/or Municipality planning and zoning requirements. This Business Tax Receipt must be transferred when the business is sold, business name has changed or you have moved the business location. This receipt does not indicate that the business is legal or that it is in compliance with State or local laws and regulations.

Malling Address:

ARGO UNIFORM CO INC 101 N DIXIE HWY HALLANDALE BEACH, FL 33009

Receipt #1CP-17-00020361 Paid 08/21/2018 45.00

2018 - 2019